

Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra), Jogeshwari (E) - 400060



University of Mumbai Transfer Certificate

PRN: 2019016400991396 Transfer Certificate Code: **AFDKAIBKBJAIKCGFFG**

Transfer Certificate Number: 2019282319



CERTIFIED that Shri/ Kumari/ Smt. MOLAWADE SINDHU UTTAMRAV has been a student of Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce..

 After Passing the B.Com. Examination in the year 2021-2022, She has kept terms in the college as under;

(days)
(days)
(days)
(days)

- Shewould have been in the class if She had continued in this college.
- ShePassed/ Failed/ ATKT at the T.Y. B.Com. Regular Rev16 Examination held in (March/October) 2021-2022.
- She has no books belonging to this college in Her possession.
- She owe nothing on account of college dues.
- Her conduct and character are good.
- Her Date of Birth in college register is 29 Oct 2001
- She has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects:-
- She has satisfactorily carried out the practical work in Faculty of Commerce
- She has satisfactorily gone through the course of Physical Training prescribed by the University. She was exempted from physical training on medical grounds/ on the ground of Her being a member of NCC.

She belongs to Category: Open as per record.

Date: 02/08/2022

Entered By :-

Forward with compliments to the Principal/Registrar_

Principal

Govt. of Maharashtras Ismail Y Science and Comment of Maharas

Ismail Yusuf College of

Checked by Arts, Science & Commerce.

جياogeshwari (East), Mumbai - 400 060

Note: Transfer Certificate code given above will be required to admit the student in Digital College® software.



218/2022 giell

Sindhy. U++AMRAU molawade. Jay Granesh Chawai maipa Dongri No. 2 Hantur Nagar Andreri (East) mumbai-93 To, Date: - 20th Tuly 2022 The Principle, Ismail Yusuf College Jogeshwan East - 400060 Subject - Request For Transfer Certificate Respected madem, I Sindha U. molawade Writing this letter For my transfer certificate. I have Successfully Completed my B: com and Inced my TC. to Join in Further Courses. Therefore I am requesting you to Kindly issue my transfer Certificate, I shall be Thankful to you in this matter. Thanking you. your FaithFully, Done Sindhy. v. molawade

UNIVERSITY OF MOMBAI

Institute of Distance and Open Learning

Dr. Shankar Dayal Sharma Bhayan,

Vidyanagari, Santzeruz (east), Mumbai-400098

Application for Transference Certificate from the last attended College / University Department

From:

Shri / Smt. /Kum. .

MOLAWADE

SINDHU

UTTAMRAV

MEENA

Residential address of the

student:

(Surname) (Own Name) (Father's/Husband's Name)

(Mother's Name)

College Code: 279

Jay Ganesh Chawl Malpa Dongri No 2 Hanjar Nagar Andheri East, 0, Andheri, Mumbai Suburban,

Mumbai, Maharashtra Pincode: 400093 Contact no. 8425993561

To.

The principal / head of the University Dept

(Full Name and Address of the last attended College / University Dept.): ISMAIL YUSUF COLLEGE,

JOGESHWARI (E)

Sir / Madam,

I am to state that I have taken provisional admission to the M.Com. Part I CBCS class in Institute of Distance and Open Learning of the University of Mumbai on the basis of the No Objection Certificate dated Issued to me by the College / University Dept.

I attended the Bachelors Of Commerce Class (Roll No. 2019016400991396) during the First/Second Terms of the Academic year 2021-2022 at your College and (passed/failed/was awarded A.T.K.T.) at the examination held by the University Dept. / College in April 2022 Examination (Seat No. 1062810)

My Date of Birth is 29/10/2001

I am enclosing the attested Xerox copy of the mark-sheets of the above mentioned examination/s.

I am to request to sent my Transference Certificate directly to the Director, Institute of Distance and Open Learning, University of Mumbai, Vidyanagari, Santacruz (East), Mumbai - 400 098 at the earliest.

Thanking You,

Verified by

Yours obediently

Date:





(Student's Signature)

Document printed on Mon Jul 11 2022 21:21:03 GMT+0530 (India Standard Time)



University of Mumbai ISMAIL YUSUF COLLEGE



(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

Student Id 1682348

GRAMME : BACHELOR OF COMMERCE								SEMES	TER: I			
PRN/Reg. No. Examination Seat No.			Name of the Learner				Month & Year of Examination					
2019016400991396 219			/MOLAW/	/MOLAWADE SINDHU UTTAMRAV MEENA					REGULAR OCTOBER 2019			
ourse		Course Title	Course		Grade		Credits	Grade	CG=	SGPI=		
Code	de Course inte		Credits	TH/PR	IA	OVERALL	(C)	Points:	C:x G	ECG /		
DMFSI.1\$\$	SI.1\$\$ ACCOUNTANCY AND FINANCIAL MANAGEMENT - I			A		A	3.00	8	24.00			
DMFSI.2\$\$	51.2\$\$ COMMERCE - I (BUSINESS DEVELOPMENT)			В		В	3.00	6	18.00			
OMFSI.3\$\$	BUSINESS ECONOR	AICS - I	3.00	A+		A+	3.00	9	27.00			
OMFSI.4\$\$	BUSINESS COMMU	NICATION - I	3.00	A		A	3.00	8	24.00	6.80		
OMFSI.5\$\$	ENVIRONMENTAL S	TUDIES - I	3.00	D.	Trapa.	D	3.00	4	12.00	0.00		
OMFSI.6\$\$	FSI.6\$\$ MATHEMATICAL AND STATISTICAL TECHNIQUES - I			C		C	3.00	5	15.00			
OMFSI.7\$\$	51.7\$\$ FOUNDATION COURSE - I			В	0	A	2.00	8	16.00	l W		
narks : SUCCESSFUL		20.00	Earned Credits : 20.00					ΣCG= 136.00	SGPI= 6.80			
SEMESTER I SEMESTER II 5 Earned = 20.00 SGPI = 6.80 Credits Earned = SGPI =		SEM Credits Earned =	ESTER III — SGP	I = Credits E	SEMESTER IV	SGPI =	Overall	Grade =				

NO NUMBER TO SERVICE THE SERVI

TUSUF CO.

e : Mumbai

:: 27/11/2019

Checked By:

Chairperson, Exam. Committee

Seal of the College

Principal

ad of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



University of Mumbai

ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD



Student Id 1682348

PROGRAMME	: BACHELOR OF CO	OMMERCE						SEMES	TER: II	
PRN/Reg. No. Examination Seat No.			Name of the Learner /MOLAWADE SINDHU UTTAMRAV MEENA				Month & Year of Examination			
2019016400991396 219							/MOLAW	REGULAR MARCH 2020		
Course	ourse		Course		Grade		Credits	Grade	CG=	SGPI=
Code		Course Title	Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /
UBCOMFSII.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - II	3.00	A		A	3.00	8	24.00	Such S
UBCOMFSII.2	COMMERCE - I (BI	USINESS DEVELOPMENT)	3.00	B+		B+	3.00	7	21.00	100
UBCOMFSII.3	BUSINESS COMM	UNICATION - II	3.00	A		A	3.00	8	24.00	
UBCOMFSII.4	BUSINESS ECONO	OMICS - II	3.00	0		0	3,00	10	30.00	7.00
UBCOMFSII.5	ENVIRONMENTAL	3.00	D	12. y 14.	D	3.00	4	12.00	7.00	
UBCOMFSII.6	MATHEMATICAL A	AND STATISTICAL TECHNIQUES - II	3.00	С		C	3.00	5	15.00	
UBCOMFSII.7	FOUNDATION COL	URSE - II	2.00	В	A+	B+	2.00	7	14.00	
Remarks : SUCCESSFUL			20.00	Earned Credits : 20.00					ΣCG= 140.00	SGPI= 7.00
				IESTER III SGPI	= Credits E	SEMESTER IV	SGPI =			All the second
SEI redits Earned	MESTER V SGPI = -	SEMESTER VI Credits Earned = SGPI = -						Overall	Grade =	B+

Place : Mumbai

Date: 20/07/2020

Checked By:

Chairperson, Exam. Committee

Seal of the College

20 Warhal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female



University of Mumbai

ISMAIL YUSUF COLLEGE



Student Id 1682348

(Affiliated to University of Mumbai)

JOGÉSHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

PROGRAMME	BACHELOR OF CO	OMMERCE						SEMEST	TER : III			
PRN/Reg. No.		Examination Seat No.		Name of the Learner				Month & Year of Examina		ation		
2019016400991396 20SC 175			/MOLAW	/MOLAWADE SINDHU UTTAMRAV MEENA					REGULAR DECEMBER 2020			
Course	Reserved to the second		Course	istra.	Grade		Credits	Grade	CG=	SGPI=		
Code	1.7 %.7	Course Title	Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG _. /		
UBCOMSSIII.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - III	3.00	В		В	3.00	6	18.00	-1		
UBCOMSSIII.2	FINANCIAL ACCO	UNTING & AUDITING -I	3.00	0		0	3.00	10	30.00			
UBCOMSSIII.3	COMMERCE - III		3.00	0	344	0	3.00	10	30.00			
UBCOMSSIII.4	BUSINESS ECON	OMICS - III	3.00	o	1 pg	0	3.00	10	30.00	9.40		
UBCOMSSIII.5	BUSINESS LAW -	III	3.00	0	40,00	0	3.00	10	30.00			
UBCOMSSIII46	ADVERTISING		3.00	o		0	3.00	10	30.00			
UBCOMSSIII.7	FOUNDATION CO	URSE - III	2.00	0	B+	0	2.00	10	20.00			
Remarks : SUCCESSFUL			20.00	Earned Credits : 20.00					ΣCG= 188.00	SGPI= 9.40		
SEMESTER I SEMESTER II redits Earned = 20.00 SGPI = 6.80 Credits Earned = 20.00 SGPI = 7.00			SEN .00 Credits Earned =	MESTER III 20.00 SGPI	= 9.40 Credits	SEMESTER IV	SGPI =	sol/				
SEMESTER V SEMESTER VI Credits Earned = SGPI = SGPI =							- Although	Overall	Grade =	A+		



Place : Mumbai Date : 15/02/2021

Checked By:

Chairperson, Exam. Committee



Seal of the College

Scherchal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



University of Mumbai

ISMAIL YUSUF COLLEGE





(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

Student Id 1682348

PROGRAMME	: BACHELOR OF CO	MMERCE						SEMES	TER : IV	
PRN/Reg. No. Examination Seat No. 2019016400991396 20SC 175				Molawade SINDHU UTTAMRAV MEENA				Month & Year of Examination		
			/MOLAW					REGULAR APRIL 2021		
Course	Course Title		Course		Grade		Credits	Grade	CG=	SGP1=
Code			Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /
UBCOMSSIV.1	ACCOUNTANCY AN	ID FINANCIAL MANAGEMENT - IV	3.00	Α	1 - 1- A	A	3,00	8	24.00	
UBCOMFSIV.2	FINANCIAL ACCOU	NTING & AUDITING-II	3.00	A		A	3/00	8	24.00	
UBCOMFSIV.3	COMMERCÉ-IV I	3.00	A+		A+	3/00	9	27.00		
UBCOMFSIV.4	BUSINESS ECONO	3.00	0		0	3/00	10	30.00	8.80	
UBCOMFSIV.5	BUSINESS LAW - II		3.00	A+ /	The same	A+	3/00	9	27.00	
UBCOMFSIV.6	ADVERTISING- II		3.00	A+		0	3/00	10	30.00	
UBCOMFSIV.7	FOUNDATION COU	RSE - IV	2.00	В	A	B+	2,00	7	14.00	
Remarks : SUCCESSFUL			20.00	Earned Credits : 20.00					ΣCG= 176.00	SGPI= 8.80
SEMESTER I SEMESTER II Credits Earned = 20.00 SGPI = 6.80 Credits Earned = 20.00 SGPI = 7.00			SE = 7.00 Credits Earned	SEMESTER III SEMESTER IV Credits Earned = 20.00 SGPI = 9.40 Credits Earned = 20.00			SGPI:= 8.80			
SEMESTER V SEMESTER VI Credits Earned = SGPI = SGPI =			PI =		Santa Litro			Overall	Grade =	A



Place : Mumbai

Date: 29/04/2021



mythats

Chairperson, Exam. Committee



Seal of the College

Edwarhal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female



Charbersity of Filambai GRADE CARD

Name

: / MOLAWADE SINDHU UTTAMRAV MEENA

Examination

: Third Year B.Com. (Semester-V)(CBCS)

Held In

: NOVEMBER 2021

Seat Number

: 4112924 (PRN:2019016400991396)

Course Code	Course Title	Maximum	Minimum	Marks	Credits	Grade	Grade	CxG
		Marks	Marks	Obtained	(C)		Points (G)	
23114	Commerce-V	100	40	78@2	3.00	0	10	30.00
23113	Business Economics-	100	40	82	3.00	0	10	30.00
23101	Financial Accounting & Auditing VII- Financial Accounting	100	40	68	4.00	A	8	32.00
23107	Financial Accounting & Auditing VIII- Cost Accounting	100	40	70	4.00	A+	9	36.00
23115	Direct & Indirect Taxation Paper -I	100	40	74	3.00	A+	9	27.00
23116	Export Marketing Paper-I	100	40	70	3.00	A+	9	27.0
	GRAND TOTAL	600		442@2	20.00			182.0

Remark: SUCCESSFUL

SGPI: 9.10

Result Declared On: FEBRUARY 05, 2022

DIRECTOR

CCF:0036:0125

BOARD OF EXAMINATIONS AND EVALUATION



CCF:86:1062810

University of Mumbai

CERTIFICATE SHOWING THE RESULT OF THE CANDIDATE

Name : / MOLAWADE SINDHU UTTAMRAV MEENA

Examination : Third Year B.Com. (Semester-VI) (CBCS)

Held In : APRIL 2022

Seat : 1062810 (PRN:2019016400991396)

Number



Course	Course Title	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
83014	Commerce- VI	100	40	74	3.00	A+	9	27.00
83013	Business Economics- VI	100	40	74	3.00	A+	9	27.00
83001	Financial Accounting & Auditing IX- Financial Accounting	100	40	68	4.00	A	8	32.00
83007	Financial Accounting & Auditing X- Cost Accounting	100	40	66	4.00	Α	8	32.00
83015	Direct & Indirect Taxation Paper -II	100	40	74	3.00	A+	9	27.00
83016	Export Marketing Paper-II	100	40	96	3.00	0	10.	30.00
	GRAND TOTAL	600		452	20.00			175.00
6.80	D.: 20.00 SGPI:	7.00	CRED.: 20.00		9.40		: 20.00 S	

Remark : SUCCESSFUL

8.80

CGPI: 8.31

Result Declared On: JUNE 10, 2022



DIRECTOR BOARD OF EXAMINATIONS AND EVALUATION

This mark statement is provisional and may change. This is issued for immediate information to student.





भारत सरकार Government of India

भारतीय विशिष्ट ओळख प्राधिकरण Unique Identification Authority of India

नोंदविण्याचा क्रमांक / Enrollment No.: 0628/13633/01127

Sindhu Uttam Molawade सिन्ध् उत्तम मोलावडे D/O: Uttam Mohawade, 295, Janashakti Rahiwasi Sangh, Jay Ganesh Chawl, Opp. Hanjar Nagar, Andheri East, VTC: Mumbai, PO: Chakala Midc, Sub District: Mumbai, District: Mumbai, State: Maharashtra, PIN Code: 400093, Mobile: 8425983492





आपला आधार क्रमांक / Your Aadhaar No. :

2246 2354 7135

माझे आधार, माझी ओळख



Government of India





सिन्ध् उतम मोलावडे Sindhu Uttam Molawade जन्म तारीख / DOB: 29/10/2001 स्त्री / Female

2246 2354 7135

माझे आधार, माझी ओळख







माहिती

- आधार ओळखीचा पुरावा आहे नागरिकत्वाचा नाही.
- सुरक्षित QR कोड / ऑफलाइन XML / ऑनलाइन प्रमाणीकरण वापरून ओळख सत्यापित करा.

INFORMATION

- Aadhaar is a proof of identity, not of citizenship.
- Verify identity using Secure QR Code / Offline XML / Online Authentication.
 - आधार देशभरात वैध आहे.
 - आधार आपल्याला विविध सरकारी आणि खाजगी सेवा सुलभतेने घेण्यास मदत करते.
 - आपला मोबाइल नंबर आणि ईमेल आयडी आधारमध्ये अदयावत ठेवा.
 - आपल्या स्मार्ट फोनमध्ये आधार घ्या mAadhaar App
 - Aadhaar is valid throughout the country.
 - Aadhaar helps you avail various Government and private services easily.
 - Keep your mobile number & email id updated in Aadhaar.
 - Carry aadhaar in your email phone use mAadhaar App.



भारतीय विशिष्ट ओळख प्राधिकरण Unique Identification Authority of India



पत्ता D/O: उत्तम मोळावडे, 295,जनशक्ति रहिवासी संघ, जय गणेश चाळ, हंजार नगर समोर, अंधेरी इस्ट, मुंबई, महाराष्ट्र, 400093

Address: D/O: Uttam Mohawade, 295, Janashakti Rahiwasi Sangh, Jay Ganesh Chawl, Opp. Hanjar Nagar, Andheri East, Mumbai, Maharashtra, 400093



2246 2354 7135



help@uidai.gov.in









PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 20-Jul-2022

e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUJ4189689					
Category	BONAFIED NOC AND T C FEES					
FIRST NAME	SINDHU					
MIDDLE NAME	UTTAMRAV					
LAST NAME	MOLAWADE					
DATE OF BIRTH	29/10/2001					
GENDER	FEMALE					
CATEGORY	GENERAL					
MOBILE NO	8425983492					
COURSE	B COM					
BONAFIED FEES, NOC FEES, T C FEES	100					
Transaction charge	0.00					
Total Amount (In Figures)	100.00					
Total Amount (In Words)	Rupees One Hundred Only					
Remarks	BONAFIED FEES, NOC FEES, T C FEES					
Notification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100					
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE					

